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* I RERSE 40mg/dl = HAETMHEE (ZMEE) =< 400 mg/dl
40 mg/dl = RB&O¥E (BEL285[E) = 400 mg/d
axX2 bk 3-1 ZERR B IM AR ZERE R I AE B ZC R R M HEE TRERFMAEEILE ERERF M AEE L
EIXEEE FEFRE ( FEZE ( RIE ( BiRE (
( 80-110mg/dL*k 80-110mg/dL 80-110mg/dL*k 80-110mg/dL*k
80-110mg/d W) EERL Kil) EHEZ W) FHBATULE W) EHEZTL
LkE) LU TWET, & TWFEY, B EFC) F9, FH
BOHEDHT 80-110mg/dL& | 110-130mg/d | 130-160mg/dL3k i 160mg/dLEL £
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(mg/dl) i R il
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X EEE ( BiR{E ( BiEE ( {& (80-140mg/dL ELBEE (
80-140mg/d 80-140mg/dL*k | 80-140mg/dL Kidi) A TL 80-140mg/dLk
LK) &Y wh) EERL Kilh) EHER EX L) ) EEBAZTL
PBPHEDHT TWEY, & TWFEd, B 180-220mg/dLK & £9, FA
CR 80-140mg/dL*x 140-180mg/d 220mg/dLEL E
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ERIRIILEY—E (kcal) : BERKEXEKTHE
“HRERE=FR(mM)xFEK(mM)x22
*BAREENE (kcal “kgiZHEKE)
=25~30 BEL\FE (TRIUT—UOMNZVEELLE)
30~35 HEEDNHE GIHLAEENZVEELL)
35~ BULHE (AEELZUVEELGL)
RAKIEY  ERIRILF—ED50~60 % (RKEHDIRILF—E=1gx4 kcal)
FAIXCE  IZEAKE1 kgHT=Y1.0~1.2g ERIRILEF—ED15%LIA)
fE B ERIRILF—ED30%KRHE BEEOIRIILF—E=1gx9 kcal)
aLRXFE—)L : 300 mgkiH
B - 20 gL E
B 18:6gX#H

IRIIF—LEOHENX (BEEIMREE2015(2HET D)

FAIEKCELE (%) = (FAKKCEERZE (g x4) /TRIILF—ERE (kcal) x100
BEL (%) = (BEEWE (g x9) /ITHRIILF—IEEIE (kcal) x100
RIKIEMEE (%) =100- (F=AIE BL+igE L)
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AIECE 1B H=YDERAIREIRILF—ED20%LE
g & 1RH-YDERARERIRAILTF—EN25%UE
aLRTFA—IL 100 mgkl £
R 6.7 g il
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